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Quiz Date: 5th March 2020 

Direction (1-5): Study the following information carefully and answer the questions 
given below- 
Eight persons are sitting in a row, some are facing north, and some are facing south. Those 
who are facing in north likes colour and those who are facing in south likes fruits. More 
than four persons sit between A and the one who likes kiwi. D sits third to the right of A. 
Only two persons sit between H and C who likes blue colour. G sits second to the left of the 
one who sits fourth to the right of E. The one who likes mango sits third to the left of G. H is 
neither an immediate neighbour of A nor of D. A likes green colour. The one who likes 
yellow colour sits second to the right of the one who likes grapes. E does not like kiwi. The 
one who likes white colour sits third to the right of F. B sits third to the left of the one who 
likes apple. E is not an immediate neighbor of A.  
 
Q1. Who among the following sits third to the right of the one who likes White? 
(a) H 
(b) A 
(c) the one who likes grapes 
(d) The one who likes Kiwi 
(e) B 
 
Q2. How many persons sit between G and the one who likes yellow colour? 
(a) None  
(b) Three 
(c) One 
(d) More than Three 
(e) Two 
 
Q3. Which of the following statement true about F?  
(a) F likes grapes 
(b) D sits second to the right of F 
(c) Three persons sit between F and C 
(d) F likes white colour 
(e) All are true 
 
Q4. What is the position of C with respect to H? 
(a) Third to the left 
(b) Second to the right 
(c) Immediate Right 
(d) Second to the left 
(e) Immediate left 
 
Q5. Who among the following likes Apple? 
(a) E 
(b) H 
(c) D 
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(d) G 
(e) A 
 
Direction (6-7): In each question below is given a statement, followed by three 
courses of action numbered I, II and III. You have to assume everything in the 
statement to be true, and then decide which of the three given suggested courses of 
action logically follows for pursuing.  
 
Q6. Statement: In one of the worst accidents in railway level crossing, fifty people died 
when a bus carrying them collided on to a running train.   
Courses of action:  
I. The train driver should immediately be suspended.   
II. The driver of the bus should be tried on court for negligence on his part.   
III. The railway authority should be asked to man all its level crossings.   
(a) None follows  
(b) Only I and II follow    
(c) Only III follow  
(d) Only II and III follow   
(e) None of these   
 
Q7. Statement: The Company X has rejected first lot of values supplied by Company A and 
has cancelled its entire huge order quoting use of inferior quality material and poor 
craftsmanship.  
Courses of action:  
I. The Company A needs to investigate functioning of its purchase, production and quality 
control departments.   
II. The Company A should inspect all the values rejected by Company X.   
III. The Company A should inform Company X that steps have been taken for improvement 
and renegotiate schedule of supply.  
(a) Only I and II follow  
(b) Only II follow  
(c) II, and either I or III follow  
(d) All I, II and III follow   
(e) None of these  
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Direction (8-10): In the following questions, the symbols #, &, @, * , $, % and © are 
used with the following meanings as illustrated below. Study the following 
information and answer the given questions: 
P@Q- P is the child of Q 
P©Q- P is the parent of Q 
P%Q- P is father-in-law of Q 
P&Q- P is brother-in-law of Q 
P$Q- P is brother of Q 
P*Q- P is wife of Q 
 
Q8. If the expression ‘A%D©E@G$H’ is true, then how H is related to E? 
(a) Uncle 
(b) Brother 
(c)Aunt 
(d)Grandmother 
(e)Can’t be determine 
 
Q9. If the expression ‘F@M&S$R©T$F’ is true, then which of the following is true? 
(a) M is mother of T 
(b) R is brother of S 
(c) S is uncle of T 
(d) R is husband of M 
(e) All are true 
 
Q10. Which of the following expression shows ‘F is aunt of H’? 
(a) E ©H@C%F@G 
(b) E©H@C$F*G 
(c) F©E*C@H$G 
(d) G$H@C*F&E 
(e)None of these 
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Solutions 
Solutions (1-5): 
Sol.  

 
S1. Ans.(d) 
S2. Ans.(b) 
S3. Ans.(c) 
S4. Ans.(a) 
S5. Ans.(d) 
 
Solutions (6-7): 
S6. Ans.(c) 
Sol. The problem discussed in the statement is not regarding the current accident, but to do 
something to avert such mishaps. Accidents at railway crossings can be averted by 
deploying men to regulate traffic and installing barriers to check traffic movement when a 
train passes by. So, only III follows.  
 
S7. Ans.(a) 
Sol. First of all, company A should inspect the rejected valves to ensure if they are really 
sub-standard. If yes, it should scrutinize its working thoroughly and remove its lackenings, 
be it in the quality of raw material or craftsmanship. So, both I and II follow. III seems to be 
a far-off action which can be implemented only after the first two steps are put into 
practice. Thus, III does not follow. 
 
Solution (8-10): 
S8. Ans.(e) 
Sol. 

 
S9. Ans.(c) 
Sol. 
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Q10. Ans.(b) 
Sol. 
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